

## Composite RFP 873 Ph 2 Special Vendors Composite

	AVAILABLE POINTS	20	20	20	15	5	20	0	0	100	
#	VENDOR NAME	PURCHASE PRICE	REPUTATION OF VENDOR & GOODS & SERVICES	QUALITY OF GOODS & SERVICES	GOODS & SERVICES MEET FISD NEEDS	VENDOR PAST RELATIONSHIP WITH FISD	LONG-TERM COST TO FISD	TEXAS-BASED CO.	OTHER RELEVANT FACTORS	TOTAL SCORE	AVEREAGE SCORE
1	Different Roads to Learning	45	47	47	38	10	43	0	0	230	76.7
2	eSpecial Needs	40	41	52	40	0	43	0	0	216	72.0
3	Northern Speech Services	55	50	50	40	10	50	0	0	255	85.0
4	Scottish Rite For Children	58	58	58	45	15	55	0	0	289	96.3
5	Seedlings Braille Books	55	53	54	43	7	53	0	0	265	88.3
6	Medicaleshop Inc	54	54	54	45	11	53	0	0	271	90.3



## Composite RFP 873 Ph 2 Special Vendors Evaluator #1

	AVAILABLE POINTS	20	20	20	15	5	20	0	0	100
#	VENDOR NAME	PURCHASE PRICE	REPUTATION OF VENDOR & SERVICES	QUALITY OF GOODS & SERVICES	GOODS & SERVICES MEET FISD NEEDS	VENDOR PAST RELATIONSHIP WITH FISD	LONG-TERM COST TO FISD	TEXAS-BASED CO.	OTHER RELEVANT FACTORS	TOTAL SCORE
1	Different Roads to Learning	12	14	14	10	0	10			60
2	eSpecial Needs	12	14	14	10	0	10			60
3	Northern Speech Services	15	10	10	10	0	10			55
4	Scottish Rite For Children	18	18	18	15	5	15			89
5	Seedlings Braille Books	16	16	16	13	4	15			80
6	Medicaleshop Inc	16	16	16	15	3	15			81



## Composite RFP 873 Ph 2 Special Vendors Evaluator #2

	AVAILABLE POINTS	20	20	20	15	5	20	0	0	100
#	VENDOR NAME	PURCHASE PRICE	REPUTATION OF VENDOR & GOODS & SERVICES	QUALITY OF GOODS & SERVICES	GOODS & SERVICES MEET FISD NEEDS	VENDOR PAST RELATIONSHIP WITH FISD	LONG-TERM COST TO FISD	TEXAS-BASED CO.	OTHER RELEVANT FACTORS	TOTAL SCORE
1	Different Roads to Learning	18	18	18	13	5	18			90
2	eSpecial Needs	13	12	18	15	0	18			76
3	Northern Speech Services	20	20	20	15	5	20			100
4	Scottish Rite For Children	20	20	20	15	5	20			100
5	Seedlings Braille Books	19	17	18	15	3	18			90
6	Medicaleshop Inc	18	18	18	15	3	18			90



## Composite RFP 873 Ph 2 Special Vendors Evaluator #3

	AVAILABLE POINTS	20	20	20	15	5	20	0	0	100
#	VENDOR NAME	PURCHASE PRICE	REPUTATION OF VENDOR & SERVICES	QUALITY OF GOODS & SERVICES	GOODS & SERVICES MEET FISD NEEDS	VENDOR PAST RELATIONSHIP WITH FISD	LONG-TERM COST TO FISD	TEXAS-BASED CO.	OTHER RELEVANT FACTORS	TOTAL SCORE
1	Different Roads to Learning	15	15	15	15	5	15			80
2	eSpecial Needs	15	15	20	15	0	15			80
3	Northern Speech Services	20	20	20	15	5	20			100
4	Scottish Rite For Children	20	20	20	15	5	20			100
5	Seedlings Braille Books	20	20	20	15	0	20			95
6	Medicaleshop Inc	20	20	20	15	5	20			100